ISSN 2066-8562

USING AN IMPROVED HSDT-DEFORMATION THEORY IN ORDER TO BUILD UP A MATHEMATICAL MODEL FOR THE VIBRATIONS OF AN ORTHOTROPIC COMPOSITE BAR MAKING A SPATIAL MOTION

Sabin RIZESCU¹, Dumitru EBANCA², Dumitru BOLCU³, Marcela URSACHE⁴, Cora MIREA⁵

NDAIA JO

Rezumat. Acest articol arată cum se poate construi un model matematic pentru vibrațiile unei bare compozite având simetrie elastică (ortotropică) considerând mai întâi mişcarea sa ca un solid rigid și, apoi, considerând o teorie a deformațiilor HSDT de ordinul al treilea în acord cu condițiile de compatibilitate Saint-Venant și, într-un mod foarte original, a condițiilor Gay pentru mişcarea barei ca un corp deformabil. În final este arătat un algoritm bazat pe diferențe divizate pentru a rezolva modelul.

Abstract. This workpaper shows how to build up a mathematical model for the vibrations of a composite bar having elastic symmetry (orthotropic) considering first its motion as "rigid" body and, next, considering an HSDT-deformation theory of third order in full respect of Saint-Venant compatibility conditions and – in a very original way – of Gay conditions for the motion of the bar as a deformable body. Finally, a divided differences based algorithm designed to solve the mathematical model is shown.

Keywords: HSDT-Deformation, Model, Composite, Vibrations

1. Introduction

There are a lot of attempts to model the elastic behavior and dynamics of composite materials [1], [2] and, especially the elastic behavior and dynamics of composite bars [3], [4].

¹ University of Craiova, Faculty of Mechanics, Calea București No. 165, Craiova, 200512, (sabin_rizescu@yahoo.com).

² University of Craiova, Faculty of Mathematics and Informatics, A. I. Cuza 13, Craiova, 200585, (ebi@central.ucv.ro).

³ University of Craiova, Faculty of Mechanics, Calea București No. 165, Craiova, 200512, (bolcu@mecanica.ucv.ro).

⁴ University of Craiova, Faculty of Physics, A. I. Cuza 13, Craiova, 200585, (ursachemarcela@ yahoo.com).

⁵ University of Craiova, Faculty of Engineering in Electromechanics, B-dul Decebal 107, Craiova, 200440, (cora6m@yahoo.com).

In [5] is shown how to build up a mathematical model for the vibrations of an orthotropic composite bar using the Hamilton's variation principle and assuming some new and original hypothesis concerning the calculus of the elastic coefficients and the elastic displacements in full respect of the well-known Saint-Venant compatibility conditions of the Gay conditions [6]. We'll show here how these results are to be applied in case of a composite bar making a particular motion. We'll also show how the mathematical model obtained in this specific case could be solved using a divided differences based algorythm.

A special focus is made on the motion of the bar as "rigid" body that turns out to be very important in order to establish the boundary conditions for the mathematical model.

2. The motion of the bar like "rigid" body

Let's consider a kinematic linkage having two bars as elements (fig.1). The couplings from O_2 and O_3 are considered to be spherical.

The linkage is rotating around the $O_0 x_3^0$ axis with a constant angular velocity $\omega = 104,72 \ rad / sec$. The reference system $O_1 x_1^0 x_2^0 x_3^0$ is accelerated on the vertical direction $\vec{a}_T = -10,966 \ sin(104,72t) \vec{i}_3^0$ m/s², corresponding to a vertical motion described by the following equation: $\vec{O}_0 O_1 = 0,001 \ sin(104,72t) \vec{i}_3^0$ m.

What really concerns is kinematics of the element No.2, considered as being a deformable one. We'll show [7] that a motion that is analog to that when the element No.2 is considered as being one and the same with the element No.1 is fully compatible with dynamics of the linkage (considered for now as having rigid elements) despite the fact that couplings from O_2 and O_3 are spherical, so they are not introducing reaction moments.

The motion of the element No.1 is considered as being imposed the way that:

where:
$$t \ge 0$$
 is time

 $\alpha = \omega t;$

(1)

 $\omega = \text{const.}, \ \omega > 0$ is the angular velocity (its absolute value) of the element No.1

$$(^{o}\omega^{1}=\omega i_{3}^{o}).$$

The angle δ has - obviously - a constant value.

We have established [7], [8] the motion like "rigid body" for the element No.2. In order to consider it as being deformable and to describe its vibrations we'll use the mathematical model established [8].

112

This model has the following form:



$${}^{0}\omega_{2}^{2} = {}^{0 \cdot 2}\omega_{2}^{2} = 0$$
$${}^{0 \cdot 2}\omega_{1}^{2} = {}^{0 \cdot 2}\omega_{3}^{2} = 0$$

We'll focus on a specific case of a right composite bar having the next elastic characteristics:

- length: $L_2 = 0,45 m$
- dimensions of the its section: B = H = 0,01 m
- elastic coefficients:

$$E_{1111} = 2 \cdot 7 \cdot 10^{10} N / m^{2}$$

$$E_{1212} = E_{1221} = 3,18 \cdot 10^{9} N / m^{2}$$

$$E_{1313} = E_{1334} = 3,18 \cdot 10^{9} N / m^{2}$$

- the bar is considered to be an orthotropic one (even a transverse isotropic in order to make things more simple) and having elastic homogeneity:
- the bar presents also mass homogeneity having the specific mass:

$$\rho = 1188 \ N/m^2$$
.

We'll consider the case of a velocity for the driving element of 1000 rot/min the way that:

$$\omega = \frac{\pi \cdot 1000}{30} \cong 104,72 \text{ rad / sec.}$$

Also we consider as known:

- length of the driving element: $L_1 = 0,225 m$
- components of the acceleration of the origin O_2 with respect T_0 written in the T_2 reference system:

$$a_{0_{2}(2)I}^{0} = \frac{\omega_{I}^{2}L_{I}^{2}}{L_{2}} + \frac{a_{T}\sqrt{L_{2}^{2} - L_{I}^{2}}}{L_{2}}; a_{0_{2}(2)2}^{0} = 0;$$

$$a_{0_{2}(2)3}^{0} = \frac{\omega^{2} L_{1} \sqrt{L_{2}^{2} - L_{1}^{2}}}{L_{2}} - \frac{a_{T} L_{1}}{L_{2}}$$
 exprimed in m/s²

components of the specific mass gravitation force distributed on length:

$$p_1 = -0.1188 \frac{\sqrt{L_2^2 - L_1^2}}{L_2}; p_2 = 0; p_3 = 0.1188 \frac{L_1}{L_2} \text{ [N/m]}$$

3. Study of the vibrations of the composite bar

 \sim

We are now ready to consider the bar as being deformable. We'll consider the following initial conditions [8]:

$$\{u\}\Big|_{t=0} = \begin{cases} 0\\0\\0 \end{cases}; \quad x_{1} \in [0, L_{2}]; \qquad \left\{ \begin{matrix} \bullet\\u \end{matrix} \right\}\Big|_{t=0} = \begin{cases} 0\\0\\0 \\0 \end{cases}; \quad x_{1} \in [0, L_{2}]$$

$$\left\{ \boldsymbol{\theta} \right\} \Big|_{t=0} = \begin{cases} \boldsymbol{\theta} \\ \boldsymbol{\theta} \\ \boldsymbol{\theta} \end{cases}; \quad x_{1} \in \left[\boldsymbol{\theta}, L_{2}\right]; \\ \left\{ \begin{array}{c} \boldsymbol{\theta} \\ \boldsymbol{\theta} \\ \end{array} \right\} \Big|_{t=0} = \begin{cases} \boldsymbol{\theta} \\ \boldsymbol{\theta} \\ \boldsymbol{\theta} \\ \boldsymbol{\theta} \end{cases}; \quad x_{1} \in \left[\boldsymbol{\theta}, L_{2}\right].$$

And the following boundary conditions:

$$\{u\}\Big|_{X_{1}} = 0 = \{u\}\Big|_{X_{1}} = L_{2} = \{0\}\Big|_{3 \times 1}; \quad (\forall) \ t \ge 0$$

$$\{\theta\}_{,i}\Big|_{X_{1}} = 0 = \{0\}\Big|_{3 \times 1}; \quad (\forall) \ t \ge 0$$

$$\theta_{1}(L_{2}, t) = 0; \quad \theta_{2,i}(L_{2}, t) = 0; \quad \theta_{3,i}(L_{2}, t) = 0$$

Having one single bar we'll drop down the "j" index:

$$\begin{bmatrix} P^{I} \end{bmatrix} \begin{Bmatrix} \mathbf{u} \end{Bmatrix} + \begin{bmatrix} P^{2} \end{bmatrix} \begin{Bmatrix} \mathbf{u} \end{Bmatrix} + \begin{bmatrix} P^{3} \end{bmatrix} \begin{Bmatrix} \mathbf{u} \end{Bmatrix} + \begin{bmatrix} P^{4} \end{bmatrix} \begin{Bmatrix} \mathbf{\theta} \end{Bmatrix}_{I} + \begin{bmatrix} P^{5} \end{bmatrix} \begin{Bmatrix} \mathbf{u} \end{Bmatrix}_{II} = \begin{Bmatrix} f \end{Bmatrix}$$

$$\begin{bmatrix} V^{I} \end{bmatrix} \begin{Bmatrix} \mathbf{\hat{\theta}} \end{Bmatrix} + \begin{bmatrix} V^{2} \end{bmatrix} \begin{Bmatrix} \mathbf{\hat{\theta}} \end{Bmatrix} + \begin{bmatrix} V^{3} \end{bmatrix} \begin{Bmatrix} \mathbf{\theta} \end{Bmatrix} + \begin{bmatrix} V^{4} \end{bmatrix} \begin{Bmatrix} \mathbf{u} \end{Bmatrix}_{I} + \begin{bmatrix} V^{5} \end{bmatrix} \end{Bmatrix} \begin{Bmatrix} \mathbf{\theta} \end{Bmatrix}_{II} = \begin{Bmatrix} g \end{Bmatrix};$$
(3)

and, of course: $x_1^j = x_1 = x$ the way that we have:

$$\{u\} = \{u\} (x,t); \qquad \{\theta\} = \{\theta\} (x,t)$$

$$x \in [0, L_2]; \qquad t \in [0, t_f]$$

$$(4)$$

The nature of the motion like "rigid body" gives $\{f\}$ and $\{g\}$ the following forms [9]:

$${f} = {f}(x,t); {g} = {const.}$$
 (5)

The matrix coefficients of the unknowns $\{u\}$ and $\{\theta\}$ are fully described in [8].

4. A divided differences algorithm designed to solve the mathematical model

We are looking at the relation (3). We'll divide [9] the interval $[0, L_2]$ into n subintervals having the pace on the h axis the way that a x_i coordinate will be:

$$x_i = ih; \ h = \frac{L_2}{n}; \ 0 \le i \le n;$$
 (6)

We'll divide [9] the time interval of our study $[0, t_f]$, t_f being a final value, into m subintervals the way that at a certain moment of time t_j :

$$t_j = j\tau; \ \tau = \frac{t_f}{m}; \ 0 \le j \le m.$$
(7)

The procedure (central differences) leads firstly to the following expression:

$$[P^{I}] \cdot \frac{1}{\tau^{2}} \{\!\!\{\!u_{i\,j+I}\}\!\} - 2 \{\!\!u_{ij}\}\!\} + \{\!\!u_{i\,j-I}\}\!\} + [P^{2}] \cdot \frac{1}{2\tau} \{\!\!\{\!\!u_{i\,j+I}\}\!\} - \{\!\!u_{i\,j-I}\}\!\} + [P^{3}] \{\!\!u_{ij}\}\!\} + \\ + [P^{4}] \{\!\!\{\!\!\theta_{i+I\,j}\}\!\} - \{\!\!\theta_{i-I\,j}\}\!\} \frac{1}{2h} + [P^{5}] \frac{1}{h^{2}} \{\!\!\{\!\!u_{i+I\,j}\}\!\} - 2 \{\!\!u_{ij}\}\!\} + \{\!\!u_{i-I\,j}\}\!\} = \{\!\!f_{ij}\}\!\}.$$

$$(8)$$

and:

V

$${}^{I}] \cdot \frac{1}{\tau^{2}} \left\{ \left\{ \theta_{i\,j+1} \right\} - 2 \left\{ \theta_{ij} \right\} + \left\{ \theta_{i\,j-1} \right\} \right\} + \left[V^{2} \right] \frac{1}{2\tau} \left\{ \left\{ \theta_{i\,j+1} \right\} - \left\{ \theta_{i\,j-1} \right\} \right\} + \left[V^{3} \right] \left\{ \theta_{ij} \right\} + \left[V^{4} \right] \cdot \frac{1}{2h} \left\{ \left\{ u_{i+1\,j} \right\} - \left\{ u_{i-1\,j} \right\} \right\} + \left[V^{5} \right] \frac{1}{h^{2}} \cdot \left\{ \left\{ \theta_{i+1\,j} \right\} - 2 \left\{ \theta_{ij} \right\} + \left\{ \theta_{i-1\,j} \right\} \right\} = \left\{ g \right\},$$
(9)

where:

$$u_{ij} = u \left(x_i, t_j \right); \ \theta_{ij} = \theta \left(x_i, t_j \right); \ f_{ij} = f \left(x_i, t_j \right), \{g\} = \{const.\}, \\ 1 \le i \le n-1; \ j \ge 0.$$

Or, more:

$$\begin{bmatrix} \frac{1}{\tau^{2}} [P^{I}] + \frac{1}{2\tau} [P^{2}]] \{ u_{ij+I} \} = \begin{bmatrix} -\frac{1}{\tau^{2}} [P^{I}] + \frac{1}{2\tau} [P^{2}]] \{ u_{ij-I} \} + \begin{bmatrix} \frac{2}{\tau^{2}} [P^{I}] - [P^{3}] + \\ + \frac{2}{h^{2}} [P^{5}]] \{ u_{ij} \} - \frac{1}{h^{2}} [P^{5}] \{ u_{i+Ij} \} - \frac{1}{h^{2}} [P^{5}] \{ u_{i-Ij} \} - \frac{1}{2h} [P^{4}] \{ \theta_{i+Ij} \} + \\ \frac{1}{2h} [P^{4}] \{ \theta_{i-Ij} \} + \{ f_{ij} \} ; \\ \begin{bmatrix} \frac{1}{\tau^{2}} [V^{I}] + \frac{1}{2\tau} [V^{2}]] \{ \theta_{ij+I} \} = \begin{bmatrix} -\frac{1}{\tau^{2}} [V^{I}] + \frac{1}{2\tau} [V^{2}]] \{ \theta_{ij-I} \} + \begin{bmatrix} \frac{2}{\tau^{2}} [V^{I}] - [V^{3}] + \\ + \frac{2}{h^{2}} [V^{5}] \end{bmatrix} \{ \theta_{ij} \} - \frac{1}{h^{2}} [V^{5}] \{ \theta_{i+Ij} \} - \frac{1}{h^{2}} [V^{5}] \{ \theta_{i-Ij} \} - \frac{1}{2h} [V^{4}] \{ u_{i+Ij} \} + \\ + \frac{1}{2h} [V^{4}] \{ u_{i-Ij} \} + \{ g \} ; \end{bmatrix}$$
(10)

We'll note:

$$\frac{1}{\tau^{2}} [P^{I}] + \frac{1}{2\tau} [P^{2}] = [A];$$

$$-\frac{1}{\tau^{2}} [P^{I}] + \frac{1}{2\tau} [P^{2}] = [B_{I}];$$

$$\frac{2}{\tau^{2}} [P^{I}] - [P^{3}] + \frac{2}{h^{2}} [P^{5}] = [B_{2}];$$
 (11)

and:

$$\frac{1}{\tau^{2}} [V^{1}] + \frac{1}{2\tau} [V^{2}] = [C];$$

$$= \frac{1}{\tau^{2}} [V^{1}] + \frac{1}{2\tau} [V^{2}] = [D_{1}];$$

$$= \frac{2}{\tau^{2}} [V^{1}] - [V^{3}] + \frac{2}{h^{2}} [V^{5}] = [D_{2}];$$
(12)

With (12) and (11) the system (10) becomes:

DAM

$$\{ u_{i \ j+1} \} = [A]^{-I} [B_{I}] \{ u_{i \ j-1} \} + [A]^{-I} [B_{2}] \{ u_{ij} \} - \frac{1}{h^{2}} [A]^{-I} [P^{5}] \{ u_{i+I \ j} \} - \frac{1}{h^{2}} [A]^{-I} [P^{5}] \{ u_{i-I \ j} \} - \frac{1}{2h} [A]^{-I} [P^{4}] \{ \theta_{i+I \ j} \} + \frac{1}{2h} [A]^{-I} [P^{4}] \{ \theta_{i-I \ j} \} + [A]^{-I} \{ f_{ij} \}$$

$$\{ \theta_{i \ j+I} \} = [C]^{-I} [D_{I}] \{ \theta_{i \ j-I} \} + [C]^{-I} [D_{2}] \{ \theta_{ij} \} - \frac{1}{h^{2}} [C]^{-I} [V^{5}] \{ \theta_{i+I \ j} \} - \frac{1}{2h} [C]^{-I} [V^{5}] \{ \theta_{i-I \ j} \} + [C]^{-I} [V^{4}] \{ u_{i+I \ j} \} + \frac{1}{2h} [C]^{-I} [V^{4}] \{ u_{i-I \ j} \} + [C]^{-I} \{ g \};$$

$$I \le i \le n-1; j \ge 0.$$

$$(13)$$

We have seen that:

$$\{ \boldsymbol{u} \} = \{ \boldsymbol{u}_1; \boldsymbol{u}_2; \boldsymbol{u}_3 \}^t$$

$$\{ \boldsymbol{\theta} \} = \{ \boldsymbol{\theta}_1; \boldsymbol{\theta}_2; \boldsymbol{\theta}_3 \}^t ;$$

$$(14)$$

The boundary and the initial conditions leads us to the following conclusions:

$$\{u_{i0}\} = \{0\}, (\forall)i;$$
 (15)

$$\{u_{0j}\} = \{0\}, (\forall) j;$$
 (16)

$$\left\{ u_{nj} \right\} = \left\{ 0 \right\}, \ \left(\forall \right) \ j \ ; \tag{17}$$

$$\frac{1}{2\tau} \left\{ \left\{ u_{i \ j+1} \right\} - \left\{ u_{i \ j-1} \right\} \right\} \right\}_{j=0} = \left\{ 0 \right\}$$
(18)

So that:

1

Sabin Rizescu, Dumitru Ebanca,

And, stil

$$\theta_{2}(x_{n},t_{j}) = \theta_{2}(x_{n-1},t_{j})$$

$$\frac{1}{h} \left[\theta_{3}(x_{n},t_{j}) - \theta_{3}(x_{n-1},t_{j}) \right] = 0$$
or: $\theta_{3}(x_{n},t_{j}) = \theta_{3}(x_{n-1},t_{j})$
lizing descending differences.
(23)

in (24) a Let's pu

$$\{u_{iI}\} = [A]^{-I} [B_I] \{u_{iI}\} + [A]^{-I} \{f_{i0}\}$$

$$\{\theta_{iI}\} = [C]^{-I} [D_I] \{\theta_{iI}\} + [C]^{-1} \{g\}; \ I \le i \le n-1$$
(25)

(26)

And because $t = \tau$:

$$\{u_{iI}\} = \left[[I]_{3\times 3} - [A]^{-I} [B_I] \right]^{-I} [A]^{-I} \{f_{i0}\}$$
$$\{\theta_{iI}\} = \left[[I]_{3\times 3} - [C]^{-I} [D_I] \right]^{-I} [C]^{-I} \{g\}; \ 1 \le i \le n-1$$

It becomes useful to make j = 1, taking into account (19) and (15):

$$\{u_{i2}\} = [A]^{-i} [B_2] \{u_{i1}\} - \frac{1}{h^2} [A]^{-i} [P^5] \{u_{i+11}\} - \frac{1}{h^2} [A]^{-i} [P^5] \{u_{i-11}\} - \frac{1}{2h} [A]^{-i} [P^4] \{\theta_{i+11}\} + \frac{1}{2h} [A]^{-i} [P^4] \{\theta_{i-11}\} + [A]^{-i} \{f_{i1}\} \\ \{\theta_{i2}\} = [C]^{-i} [D_2] \{\theta_{i1}\} - \frac{1}{h^2} [C]^{-i} [V^5] \{\theta_{i+11}\} - \frac{1}{h^2} [C]^{-i} [V^5] \{\theta_{i-11}\} - \frac{1}{2h} [C]^{-i} [V^4] \{u_{i+11}\} + \frac{1}{2h} [C]^{-i} [V^4] \{u_{i-11}\} + [C]^{-i} \{g\}; \ 1 \le i \le n-1$$

$$(27)$$

We'll note:
$$\{w_{n1}\} = \{0; \theta_{2,n-1}; \theta_{3,n-1}\}^{t};$$

 $\{w_{nj}\} = \{0; \theta_{2,n-1}; \theta_{3,n-1}\}^{t}; j = \overline{2, m-1}$
(28)

Taking into account (28), (21) and (15):

$$\{u_{12}\} = [A]^{-i} [B_2] \{u_{11}\} - \frac{1}{h^2} [A]^{-i} [P^5] \{u_{21}\} - \frac{1}{2h} [A]^{-i} [P^4] \{\theta_{21}\} + \frac{1}{2h} [A]^{-i} [P^4] \{\theta_{11}\} + [A]^{-i} \{f_{11}\} \\ \{\theta_{12}\} = [C]^{-i} [D_2] \{\theta_{11}\} - \frac{1}{h^2} [C]^{-i} [V^5] \{\theta_{21}\} - \frac{1}{h^2} [C]^{-i} [V^5] \{\theta_{11}\} - \frac{1}{2h} [C]^{-i} [V^4] \{u_{21}\} + [C]^{-i} \{g\}; 2 \le i \le n-2$$

$$(29)$$

The next values $\{u_{i2}\}$ and $\{\theta_{i2}\}$ continuing the algorithm as (27) imposes.

with (17):

$$\{u_{n-1\,2}\} = [A]^{-1} [B_2] \{u_{n-1\,1}\} - \frac{1}{h^2} [A]^{-1} [P^5] \{u_{n-2\,1}\} - \frac{1}{2h} [A]^{-1} [P^4] \{w_{n1}\} + \frac{1}{2h} [A]^{-1} [P^4] \{\theta_{n-2\,1}\} + [A]^{-1} \{f_{n-1\,1}\} \\
\{\theta_{n-1\,2}\} = [C]^{-1} [D_2] \{\theta_{n-1\,1}\} - \frac{1}{h^2} [C]^{-1} [V^5] \{w_{n1}\} - \frac{1}{h^2} [C]^{-1} [V^5] \{\theta_{n-2\,1}\} + \frac{1}{2h} [C]^{-1} [V^4] \{u_{n-2\,1}\} + [C]^{-1} \{g\};$$
(30)

And for $2 \le i \le n-2$ we have at our disposal (27) putting j = 1: On the other hand for i = 1 the system (13) becomes with (21) and (16):

$$\{ u_{1\,j+l} \} = [A]^{-l} [B_{1}] \{ u_{1\,j-l} \} + [A]^{-l} [B_{2}] \{ u_{1\,j} \} - \frac{1}{h^{2}} [A]^{-l} [P^{5}] \{ u_{2\,j} \} - \frac{1}{2h} [A]^{-l} [P^{4}] \{ \theta_{2\,j} \} + \frac{1}{2h} [A]^{-l} [P^{4}] \{ \theta_{1\,j} \} + [A]^{-l} \{ f_{1\,j} \}$$

$$\{ \theta_{1\,j+l} \} = [C]^{-l} [D_{1}] \{ \theta_{1\,j-l} \} + [C]^{-l} [D_{2}] \{ \theta_{1\,j} \} - \frac{1}{h^{2}} [C]^{-l} [V^{5}] \{ \theta_{2\,j} \} - \frac{1}{h^{2}} [C]^{-l} [V^{5}] \{ \theta_{2\,j} \} - \frac{1}{h^{2}} [C]^{-l} [V^{5}] \{ \theta_{1\,j} \} - \frac{1}{2h} [C]^{-l} [V^{4}] \{ u_{2\,j} \} + [C]^{-l} \{ g \};$$

$$(31)$$

For $2 \le i \le n-2$ the relations (13) remain available in the algorithm. For i = n-1, with (28) and (17) we have:

$$\{u_{n-1 \ j+1}\} = [A]^{-1}[B_1]\{u_{n-1 \ j-1}\} + [A]^{-1}[B_2]\{u_{n-1 \ j}\} - \frac{1}{h^2}[A]^{-1}[P^5]\{u_{n-2 \ j}\} - \frac{1}{h^2}[A]^{-1}[P^5]\{u_{n-2 \ j}\} - \frac{1}{h^2}[A]^{-1}[P^5][u_{n-2 \ j}] = 0$$

$$-\frac{1}{2h}[A]^{-I}[P^{4}]\{w_{nj}\} + \frac{1}{2h}[A]^{-I}[P^{4}]\{\theta_{n-2}]_{j}\} + [A]^{-I}\{f_{n-1}]_{j}\}$$
$$\{\theta_{n-1}]_{j+I}\} = [C]^{-I}[D_{I}]\{\theta_{n-1}]_{j-I}\} + [C]^{-I}[D_{2}]\{\theta_{n-1}]_{j}\} - \frac{1}{h^{2}}[C]^{-I}[V^{5}]\{w_{nj}\} - \frac{1}{h^{2}}[C]^{-I}[V^{5}]\{\theta_{n-2}]_{j}\} - \frac{1}{2h}[C]^{-I}[V^{4}]\{u_{n-2}]_{j}\} + [C]^{-I}\{g\}$$
(32)

for $2 \le i \le n-2$ and using the system (13). This way we can determine the values for $\{u_{ij}\}$ and $\{\theta_{ij}\}$. The algorithm fits nicely to work it using programs like TurboPascal or C++.

DALA

Conclusions

We have shown how to build up and to solve a mathematical model for the vibrations of an orthotropic composite bar. More specific, the mathematical model will provide the evolutions in function of time for the displacement of the current point of the medium fiber "u" and for the rotation of the current right section " θ ".

Acknowledgements

The authors acknowledge the Romanian Ministry of Education and Research for financial support under the PNII-CAPACITATI program, Project 126/14.09.2007 and Project 180/3.09.2008.

REFERENCES

- [1] Barrau, J.J., Laroze, S., *Calcul des structures en materiaux composites*, Tome 4, Ecole Nationale de l'aéronautique et de l'espace, Toulouse, 1987.
- [2] Librescu, L., Statica si dinamica structurilor elastice, anizotrope si eterogene, Editura Academiei Romane, 1969.
- [3] Cederbaum, G., s.a., Random Vibration and Reliability Composite Structures, 1993.
- [4] Gordaninejad, F., Ghazavi, A., Chalhoub, N.G., Nonlinear Dynamic Modelling of a Revolute Prismatic Flexible Composite – Material Robot Arm, Jour. Vibr. Acous, 113, 461-468, 1991.
- [5] Bolcu, D., Rizescu, S., Contributii la studiul vibratiilor elementelor cinematice, din materiale compozite, in miscare plana, A XXVI-a sesiune de comunicari stiintifice cu participare internationala, Academia Tehnica Militara, vol. 8, 63-66, 1995.
- [6] Gay, D., Materiaux composites, Edition Hermes, Paris, 1989.
- [7] Buculei, M., Bagnaru, D., Nanu, G., Marghitu, D., *Metode de calcul in analiza mecanismelor cu bare*, Editura Scrisul Romanesc, Craiova, 1986.
- [8] Rizescu, S., Structuri spatiale din materiale compozite, Editura Universitaria, Craiova, 2004.
- [9] Ebanca, D., Metode de calcul numeric, Editura Sitech, Craiova, 1994, ISBN 973-96845-2-1.